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>> w0=100;
>> alpha=w0/2;
>> num=[0, 0, w0*w0];
>> den=[1, 2*alpha, w0*w0];
>> H=tf(num, den)

H =

         10000
  ‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐
  s^2 + 100 s + 10000

Continuous‐time transfer function.

>> step(H)
>> 
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>> w0=100;
>> alpha=w0;
>> num=[0, 0, w0*w0];
>> den=[1, 2*alpha, w0*w0];
>> H=tf(num, den)

H =

         10000
  ‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐
  s^2 + 200 s + 10000

Continuous‐time transfer function.

>> step(H)
>> 
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>> w0=100;
>> alpha=2*w0;
>> num=[0, 0, w0*w0];
>> den=[1, 2*alpha, w0*w0];
>> H=tf(num, den)

H =

         10000
  ‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐
  s^2 + 400 s + 10000

Continuous‐time transfer function.

>> step(H)
>> 
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>> w0=400;
>> alpha=10;
>> num = [0, 2*alpha, 0];
>> den = [1, 2*alpha, w0*w0];
>> H = tf(num, den)

H =

         20 s
  ‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐
  s^2 + 20 s + 160000

Continuous‐time transfer function.

>> bode(H)
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>> w0=400;
>> alpha=800;
>> num = [0, 2*alpha, 0];
>> den = [1, 2*alpha, w0*w0];
>> H = tf(num, den)

H =

         1600 s
  ‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐
  s^2 + 1600 s + 160000

Continuous‐time transfer function.

>> bode(H)
>>
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